THTEE EBERERAFHES THOAUAKEH BXREE
(IR A DER)
X 2 FE&E REH = B w &
1 FHNEEBBAMS | 1,000,000 958,600 A 41,400\ EERIEN KNS
2 A 1000| 115,016 1140167 22 RARETEREERIS, 0007
3 WEERES 1,456,000] 1,456, 314 314
& 3 2,457,000 2,529,930 72,930
(X HDER)
X 2 FEE REEE = B w® &
1 2RBFPEAEKHRNE 500, 000 479,300] A 20, 700| 2R~ DHHE
2 FPENEEDE 50, 000 of & 5000
2EGHEERR. 2 ERFABERSRFSESF
3 EHEEE 900,000 658,660 A 241, 340|HHiREIRE
7 ) REHEF AEEHEE 115, 000 (FIIR)
4 REERBE 1,007,000 1,391,970 384,970
& & 2,457,000 2,529,930 72,930




